1 2

Lectwe 26 attendrnce qu iz \Skzm« Gooa

Aprii  May June July August September October November December

danuary  February March
13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

34 5 6 7 8 9 10 11 12

(A
”/) 75 dz -+3;fd3' = jv'705124£('105:14(t))+ 3003t (-loCost)dt
< 0 dt “ o

2 =kcost) = (0cest = X
A = —FSiu(t) = -(psint OC,QDSIM ¢ - 300 cos™e)de

2
o<t 20 2 /zoa-é. -soos/ut(os-f./d /4-007:(

2) 7/](2,7) =22+% +93 70(/ E: /1*%+3 4+ 1* =5

D= 2x 4 37 Atin=2+43 =5
7’3;(( )= 242 =S

-5 =5%- s+S§ -5

4
2-5 =5x
ﬁ‘-’5= Sx 15652

ﬁ/é = z* | -

3)
2270 2720 | 220 Po,0) 0 | allte min o]
2%=Z :Q abste e : o.25
5. :%— %—:g 0,5205 /

v

= 22 SR (x* +z—+~z)

4) /)(7,5 2) = S/M(z“+§—
x

Toex = -4 x*%Sin(x45+2) + 2cos (2*+ 5+ 2)
f , = -4z COS(Z“\“E-*E\—)-SUA(Z +F<2)
752 = 4 sin(x*+ 5+ 8) Aos(Z*31 2)
x5 (9,0 6.0) = -27] e
S)ZZ@, 21‘? 2’25’18 =<4 -
4 = X°% SR+5, C=XF4 |
~(x+5) 'a.) |
22' g2

.ﬁﬂ GO e
T



y

= <0,"l/ -2>

6){: )l 1 ( = (=1) ) =C+1)) + ((+1) k
|
-l

oCx-1)-2(g-2)+2(8-3>=0
~2544¢ 4+ 2R~ =20
\~2% +22=%2)

7) a) = <-4siazt, <acosze , %>
V()= (2Cos(2¢) +c , -25m k) e, 3% +c>
V(o)’<2+f-2/é o, 3+C‘3>

C=0 , C=
(\‘-)“<5m(2.f)+c (&S(Zﬁ)-\‘c e""+c>

gff"ﬁ s,f.[‘i, (z/;g(:m)/’ égc
=<1, 0, e#
8)/’Cz+5+2z\ds /(—672'644-1:)\)6 )4 (=) (2)* dE
3/(‘6-!—216 +at)dt = 3/__ + £ zt/
3( 4+ +2) = //0.5/

q) sn(F)cos(F@) =( 0
(0) / / Fos = // F.ids =/£f<zismmz), Frex2d 24e ) n
S S

Jo( } |f’(2fc + 2% +22) dxdFde

tanuary February  March April  May June July August September October MNovember December
12 3 4 5 6 7 8 9 10 117 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

J’ (22254 22) leJ:r_ +2?;:r_+22771 2 [ 425422

S‘(H 25 +22)d3 = ]7’+§ 2252 (4 [+ 28

AJ\?C&.{.Q_Q)AZ l22~-+2.‘.) ...... EES A S B~ ]/’—7




January February March April May June July August September October November December

12345678910111213141516171819202122232425262728293031

“) zx +35t48

f 2z+3$+4a + 9(4,2)

zz+3;—+4z 9(«;}2_): P

A+3F+ag
2x+3}44-3 TEQ

zz 2
~C‘3 135+¢¢ e i

‘ 7/): e:x+3é—+4z
regy=dt, 2t, 4> 0<t<|
| Y(o) =<0, 0, 2>
; pO). s, 8, IS |
A2 - Plog o
____e?-+6+4 o eo = (ea—- (|
‘1)/’ S?dmsxdgr»f- 6202
-fost&t)dt . /@C@—s/ -
I e - | st S
/‘o st(')dﬁ =z /0 = 5
J st [ -

3
L e 1

D e Gy - [ pdodp
/ Z‘S‘ﬂﬁdl’ / /w = s 4oUTS . Sing

2]

o

-
mrf siupde = § ROn VTS S

f JOMNTD sinf dY = {on%}*(os\ﬂl’m = [3307&\/10 ’
E_ e ——




J . ;;,_‘;rwy - March' Apnl May June ' - July Awgusx September October  November  December
1234567891011 12131415161718192021 22 23 24 25 26 27 28 29 30 31

4) fff/ 3b0x dv j}jg ;607. drxdedzdw

/ 36o,zda: =/15’07c/0 = (go™

.foz 39?1(‘{9 / 3/: g

A 6'02;d2 = I;g 241::} = Jsw*

" isw®4 :vlgws,( i
o Lo P 2

15) X, = 6cos (2+V) Y 2 | < Sfu(usv)
Xy = 3cos(awv) Dy = | —SlnCu+v)

Xy Ay
‘9& 7\/

(6 cosGutv) - 6COSGUTVISILUCUU)
— (3cos(zutVv) = 3cos(2utp)Skatu~+v) )

@ G, vy (0 0) B (6-610)- (-39 - [ 3]

(6) 7/{7(,?) it 5t 6z5
7[,}; A -6 frx = bz ;TR
5

-

bcos(2u+v) 3&95(2@—# v) )
|I-SmCu—+tv) |~sin(u+v)

2% -6z Fayg = A

2X oG =0 28 ~6Z. %
32~ 18220 €~ 29 = fx

2x(z-6) <0

29,26 (0 0y (6 18)
%-=0, 7 =18 ( 9 >' y
7(7&0910) = 0 : '/)xi(6/(8> =36
ey (00) = —§ Frse (6, (8) = -6
A 0/0) “ 2 {5 C6, 18> =2.

Pz(0)a)~(-6) =36  p= (se)w el * ihs IRE TN ;
Salﬂe pou/t’(‘ at'f' (O O) /oca/wrmmm 4,1- (6, &) Vpaje i £




January February March April  May June July August September October November December

12 3 4 S 6 7 8 9 16 11 12 13 14 15 16 V7 18 19 20 21 22 23 24 25 26 27 28 29 30 3%

/7)f/(z-f$' 548,z+2>ds '/fol;fl +1) A\/

]Z} 3dv = J:j?/;{ogp‘s,ay dfdedy:

j;o3P2~5/41¢’ Jp =z /P’S/n(f/:. = (0003
/‘2& (oooSka de = /(ooos/hj'a/:& = 202R56h@P

20008 siag dy = [2000r cosg|® = Gooom
0 f, f ? 0

v





{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}

